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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a
map question of 3 marks from Geography. Attach both the maps in your answer book.
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Which one of the following became the female allegory of the German Nation ?

(a) Marianne (b) Germania
(c) Britannia (d) Mazzini
OR

Which one of the following was the reason behind the entry of US into the war in
Vietnam ?

(a) Fear of spread of communist governments around the world.
(b) Fear of Vietham gaining independence

(c)  Fear of French gaining control of Vietham

(d) Fear of division of Vietnam

Which one of the following was NOT implemented under the Treaty of Vienna of
1815 ?

(a) Restoration of Bourbon dynasty
(b)  Setting up of series of states on the boundadries of France
() Restoration of monarchies
(d) Diluting the German confederation of 39 states
OR
Which one of the following countries does not comprise Indo-China ?
(a) Thailand
(b) Vietnam
(c) Laos
(d) Cambodia

Which one of the following statement is NOT align with the basic concept of
‘Satyagraha’?
a) Emphasis on the power of truth.

(
(b) Emphasis on the need to restrain oneself.
(c) Emphasis on non-violence.

(

d) Emphasis on enduring the British dominance.

Which one of the following was the main reason behind the start of the Non-Cooperation
Movement in 1920 ?

(a) To fulfill the demand for Swaraj.

(b) To oppose the arrival of prince of Wales.

(c) To surrender the titles vested by British .

(d) To Boycott the civil services, army, police, courts and legislative councils.

Which one of the following non-conventional sources of energy is harnessed in the
Parvati Valley near Manikaran in Himachal pardesh ?

(a) Tidal Energy
(b) Geothermal Energy
()  Wind Energy
(d) Solar Energy
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10.

11.

12.

Which one of the following factors is responsible for the suger mills to shift and
concentrate in the southern and western states of India ?

(a) Sugarcane is bulky raw material.

(b) The sucrose content reduces with distance.

() The cane produced has higher sucrose content.
(

d) The cooperatives are not successful.

Which one of the following air services provides services to Oil and Natural Gas
Commission in its off-shore operations ?

(a) Indian Airlines (b) Air India
(c) Pawanhans Helicopters LTD (d) Alliance Air

Which one of the follwing is considered as the First Class Mail by the Indian postal
network ?

(a) Cards and envelopes (b) Registered periodicals
(c) Book packets (d) Registered newspapers

Which one of the following statements is NOT true about the Public Interest Groups ?
(a) They promote collective rather than selective good.

(b) They aim to help groups other than their own members.

() They undertake activity that benefits them as well as others too.

(

d) Their Principal concern is the betterment and wellbeing of their members

Which one of the following features is NOT common in most of the democracies of the
world ?

(a) They hold elections

(b) They have formal constitution

(c) They are efficient and effective

(d) They guarantee rights to the citizens

Which one of the following is a better way of carrying out political reforms in a
democratic country ?

(a) The Legal changes

(b) The Constitutional changes
() The empowerment of people
(

d) The legislation for reforms

Which one of the following is a desirable condition that a good democracy should
have ?

(a) Eliminates discrimination based on gender, cast and religion.
(b)  Rulers take all the major decision.

(c) Rulers are elected by the people.

(d) Providing right to vote.
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Which one of the following constitutes money in modern day economy ? 1
(a) Gold (b) Silver
(c) Interest (d) Demand Deposits

Which one of the following is NOT responsible for the greater choice of goods in the 1
market for the consumers ?

(a) Increased foreign trade.

(b) Increased foreign investment
() Multi-National Companies
(d) World Trade Organization

Which one of the following is NOT under the domain of a consumer protection council ? 1
(a) They guide consumers on how to file cases.

(b) They represent individual consumers in the consumer courts.

<)

(

(d) They can impose fine on producers

They receive financial support from the governmet

Which one of the following quality certification is obtained by food processing 1
companies ?

(a) Agmark (b) ISI (c) ISO (d) Hallmark

State any three measures and practices introduced by French revolutionaries to create

a sense of collective identity amongst the French people. 3x1=3
OR

Explain the views of Paul Bernard regarding the development of colonies. 3

How did the idea of nationalism develop through a movement to revive Indian
folklore ? Give three points. 3x1=3

Describe any three factors which play a very important role in turning a mineral reserve
into a mine. 3x1=3

“Energy saved is energy produce”. Justify this statement with three examples. 3x1=3

What are border roads ? Explain any two points of importance of construction of border
roads. 3x1=3

“The relationship between political parties and pressure groups can take different
forms” Support the statemnt with three points. 3x1=3

How do political parties shape public opinion ? Explain with three examples. 3x1=3

“There is lack of internal democracy within the political parties”. Justify the statement
with three arguments. 3x1=3

“The challenge of expansion is being faced by the most of the democratic countries”.
Support the statement with three suitable facts. 3x1=3
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26. Which institution supervises the functioning of formal sources of credit in India ? How
it supervise them ? State any two points. 1+2=3

27. Explain the term “debt-trap’. Why is it more rampant in rural areas ? Give two seasons.
1+2=3

28. How the globalization and greater competition amongst the producers have been of
advantage to the consumers ? Explain any three points in this regard. 3x1=3

29. Explain with examples how the opening up of foreign trade results in connecting the
markets of different countries. 3x1=3

30. “Till mid eighteenth century there were no nation states in Europe”. Support the
statement with four examples. 4x1=4

OR
Explain any four effects of the Vietnam War within the US itself. 3x1=3

31. State any two hopes and expectations of the industrial working class from the Civil
Disobedience Movement. Explain any two reasons why the Congress was not interested
in including their demands. 2+2=4

32. Explain any four factors responsible for the development of iron and steel industries in
the Chotanagpur plateau region of the country. 4x1=4

33. ‘Democracies are successful in reducing inequality and poverty’. Justify the statement
with four suitable arguments. 4x1=4

34. Describe the two features each of consumer’s ‘right to safety” and ‘right to represent’.
2+2=4

35. Two features (A) and (B) are marked on the given plolitical outline map of India.
Identify these features with the help of following information and write their correct
names on the lines marked in the map. 1+1=2

A. The place where Non-Cooperation Movement was called off

B. The place where Indian National Congress Session was held in December 1920.

OR
Locate and label the following items with appropriate symbols on the same political
outline map of India : 1+1=2
i.  Ahamedabad - The place of cotton mill workers satyagraha

ii.  Amritsar - The place where Jallianwala Bagh incident took place.

Note : The following question is for the visually impaired candidates only in lieu, of
Q.No.35. 1+1=2

(35.1) Name the Indian National Congress Session which was held in December
1920 ?

(35.2) Name the place where cotton mill workers satyagraha started.

087/X/SA2/05/B1 5



36. Three features (A), (B) and (C) are marked on the given political outline map of India.
Identify these features with the help of following information and write their correct
names on the lines marked in the map. 1+1+1=3

A. An Important lignite coal field

B. An Iron and steel plant

C. Terminal station of East-West Corridor
OR

Locate and label the following items with appropriate symbols on the same political
outline map of India : 1+1+1=3

i Anantnag - Silk Centre
ii.  Tarapur - Nuclear Power Station
iii. Raja Sansi - International Airport.

Note : The following questions are for the visually impaired candidates only; in lieu of
Q.No.36. 1+1+1=3
(36.1) Name the eastern terminal station of East-West Corridor
(36.2) In which state is Tarapur Nuclear Power station located?
(36.3) Name the city where Raja Sansi International Airport is situated.
-00o0-
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35. Map for and 35 (OR)
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36. Map for and 36 OR
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